Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: E_ORS26_Z46N_NO Plapr = (L =L ) [ CFw-L*y)
atg=ar —aty ~ e [atw @]
b*a=b* —b*N = *japr [b*w ~b*N ]
Crapa=[at +b4"] 2

CIELAB-Bunttonwinkel:
hap,g = [31, 96, 160, 237, 301, 354] b*
a

Y a*y =C*gp €08 hyy
b*a=C*ap aSin hap

Buntheit a*;




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: E_ORS18_Z47N_N4 Plapr = (L =L ) [ CFw-L*y)
atg=ar —aty ~ e [atw @]
b*a=b* —b*N = *japr [b*w ~b*N ]
Crapa=[at +b4"] 2

CIELAB-Bunttonwinkel:
hap,g = [30, 96, 163, 237, 296, 353] b*
a

Y a*, = C*g 5 C0S by,
b*a=C*ap aSin hap

Buntheit a*;




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: E_ORS18_Z48N_N5_VT098 |« b = (L =L )/ w-L*N)
atg=a* —ary -~y [afy —aty]
b*a=b* —b*N = *japr [b*w ~b*N ]
Crapa=[at +b4"] 2

CIELAB-Bunttonwinkel:
hap,g = [31, 96, 163, 237, 296, 353] b*
a

Y a*y =C*gp €08 hyy
b*a=C*ap aSin hap

Buntheit a*;




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: E_ORS18_Z48N_N5_VT100 |+ = (L* - Lx )/ Loy -L*n)
atg=ar —aty ~ e [atw @]
b*a=b* —b*N = *japr [b*w ~b*N ]
Crapa=[at +b4"] 2

CIELAB-Bunttonwinkel:
hap,g = [31, 96, 163, 237, 297, 352] b*
a

a*a=C¥apacos
b*a=C*ap aSin hap

Buntheit a*;




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: E_ORS20_Z48F_N5_VT098 |+ = (L* — L% ) / Ly -L*n)
atg=ar —aty ~ e [atw @]
b*a=b* —b*N = *japr [b*w ~b*N ]
Crapa=[at +b4"] 2

CIELAB-Bunttonwinkel:
Mo = [32, 96, 165, 239, 295, 354] .
a

¥ a*a=C¥apacos
b*a=C*ap aSin hap

Buntheit a*;




